

SOME TURAN-TYPE INEQUALITIES FOR A CLASS OF RATIONAL FUNCTIONS WITH PRESCRIBED POLES

BASHIR AHMAD GANIE^{1*}, VARUN MOHAN² AND WALI MOHAMMAD SHAH³

ABSTRACT. In this paper we prove some results for rational functions with t -fold zeros at the origin and thereby obtain generalizations and refinements of some known inequalities for rational functions. These results in particular yield the improvement and generalizations of some polynomial inequalities.

1. INTRODUCTION AND PRELIMINARIES

Let \mathcal{P}_n denote the class of all complex polynomials $P(z) := \sum_{j=0}^n a_j z^j$ of degree at most n and $P'(z)$ be the derivative of $P(z)$. Let D_k^- represent the set of all points which lie inside $T_k := \{z : |z| = k\}$, D_k^+ the set of points which lie outside T_k . Concerning the estimate of $|P'(z)|$ in terms of $|P(z)|$ for $z \in T_1$, Bernstein [5] proved the following :

Theorem 1.1. *If $P \in \mathcal{P}_n$, then*

$$\max_{z \in T_1} |P'(z)| \leq n \max_{z \in T_1} |P(z)|. \quad (1.1)$$

Inequality (1.1) is sharp and equality holds if $P(z)$ has all its zeros at the origin.

If we restrict the location of the zeros of a polynomial, then in a special case Turán [16] proved the following :

Theorem 1.2. *If all the zeros of $P \in \mathcal{P}_n$ lie in $T_1 \cup D_1^-$, then*

$$\max_{z \in T_1} |P'(z)| \geq \frac{n}{2} \max_{z \in T_1} |P(z)| \quad (1.2)$$

Inequality (1.2) is sharp and equality holds for $P(z) = \alpha + \beta z^n$, $|\alpha| = |\beta|$. There exists several extensions and generalizations of (1.2). However Rather et

Date: Received: Apr 13, 2024; Accepted: May 18, 2024.

* Corresponding author.

2010 *Mathematics Subject Classification.* Primary 30C10; Secondary 30C15.

Key words and phrases. Rational functions, Polynomials, Inequalities, Zeros, Poles, t -fold zeros.

al. [13] proved the following generalization by taking the coefficients of a polynomial into consideration.

Theorem 1.3. *If all the zeros of a polynomial $P(z)$ lie in $T_k \cup D_k^-$, $k \leq 1$, then for $z \in T_1$,*

$$|P'(z)| \geq \left\{ \frac{n}{1+k} + \frac{k(k^n|c_n| - |c_0|)}{(1+k)(k^n|c_n| + |c_0|)} \right\} |P(z)|. \quad (1.3)$$

Now let

$$\mathcal{R}_n = \mathcal{R}_n(\alpha_1, \alpha_2, \dots, \alpha_n) := \left\{ \frac{P(z)}{w(z)} : P \in \mathcal{P}_n \right\},$$

where

$$w(z) = \prod_{j=1}^n (z - \alpha_j), \quad \alpha_j \in \mathbb{C}, j = 1, 2, \dots, n.$$

Thus \mathcal{R}_n is the set of all rational functions with poles $\alpha_1, \alpha_2, \dots, \alpha_n$ and with finite limit at ∞ . Throughout this paper, we shall assume that the poles $\alpha_1, \alpha_2, \dots, \alpha_n$ lie in D_1^+ . We observe that the Blaschke product $B \in \mathcal{R}_n$, where

$$B(z) := \prod_{j=1}^n \left(\frac{1 - \bar{\alpha}_j z}{z - \alpha_j} \right) = \frac{w^*(z)}{w(z)},$$

with $w^*(z) = z^n \overline{w\left(\frac{1}{z}\right)} = \prod_{j=1}^n (1 - \bar{\alpha}_j z)$. Also we note that $|B(z)| = 1$ for $z \in T_1$. Li, Mohapatra and Rodriguez [6] obtained Bernstein-type inequalities for rational functions $r \in \mathcal{R}_n$ with prescribed poles $\alpha_1, \alpha_2, \dots, \alpha_n$ replacing z^n by $B(z)$. In fact, they proved following result.

Theorem 1.4. *If $r \in \mathcal{R}_n$ and all the zeros of r lie in $T_1 \cup D_1^-$, then for $z \in T_1$*

$$|r'(z)| \geq \frac{1}{2} |B'(z)| |r(z)|. \quad (1.4)$$

Inequality (1.4) is sharp and equality holds for the rational function $r(z) = aB(z) + b$, $|a| = |b| = 1$.

Aziz and Shah [3] generalized Theorem 1.4 by proving the following result.

Theorem 1.5. *If $r \in \mathcal{R}_n$ and all zeros of r lie in $T_k \cup D_k^-$, $k \leq 1$ then for $z \in T_1$*

$$|r'(z)| \geq \frac{1}{2} \left\{ |B'(z)| + \frac{n(1-k)}{1+k} \right\} |r(z)|. \quad (1.5)$$

Akther et al. [1] generalized Theorem 1.5 and proved the following result.

Theorem 1.6. *If $r \in \mathcal{R}_n$ has all zeros in $T_k \cup D_k^-$, $k \leq 1$, with a t -fold zeros at the origin, then for every complex number β , $|\beta| \leq 1$ and for $z \in T_1$*

$$\left| zr'(z) + \frac{(m-t)\beta}{1+k}r(z) \right| \geq \frac{1}{2} \left\{ |B'(z)| + \frac{k(2t-n) + 2m-n + 2(m-t)\operatorname{Re}(\beta)}{1+k} \right\} |r(z)|. \quad (1.6)$$

By involving some coefficients of the polynomial $P(z)$, Mir et al. [8] generalized as well as improved inequality (1.4) by proving the following result.

Theorem 1.7. *If $r \in \mathcal{R}_n$ has all zeros in $T_k \cup D_k^-$, $k \leq 1$, then for $z \in T_1$*

$$|r'(z)| \geq \frac{1}{2} \left\{ |B'(z)| + \frac{k^n|a_n| - |a_0|}{k^n|a_n| + |a_0|} \right\} |r(z)|. \quad (1.7)$$

These results were further refined and generalized by various authors (for references, see [12], [9], [10],[11]) .

2. LEMMAS

For the proof of our results, we require the following lemmas.

Lemma 2.1. *If $z \in T_1$ then*

$$\operatorname{Re} \left(\frac{zw'(z)}{w(z)} \right) = \frac{n - |B'(z)|}{2}.$$

The above lemma is due to Aziz and Zargar [4].

Lemma 2.2. *If $(b_j)_{j=1}^m$ is a finite collection of real numbers such that $0 \leq b_j \leq 1$, $j = 1, 2, 3, \dots, m$, then*

$$\sum_{j=1}^m \frac{1-b_j}{1+b_j} \geq \frac{1 - \prod_{j=1}^m b_j}{1 + \prod_{j=1}^m b_j}.$$

This lemma is due to Rather et al. [13].

3. MAIN RESULTS

As an improvement of Theorem 1.6, we first prove the following :

Theorem 3.1. *If $r \in \mathcal{R}_n$ be such that $r(z) = \frac{z^t h(z)}{w(z)}$ and all the zeros of $h(z) = \sum_{j=0}^{m-t} c_{t+j} z^j$ lie in $T_k \cup D_k^-, k \leq 1$, then for every complex number $\beta, |\beta| \leq 1$ and for $z \in T_1$*

$$\left| zr'(z) + \frac{(m-t)\beta}{1+k} r(z) \right| \geq \frac{1}{2} \left\{ |B'(z)| + \frac{k(2t-n) + 2m - n + 2(m-t)Re(\beta)}{1+k} + \frac{2k(k^{m-t}|c_m| - |c_t|)}{(1+k)(k^{m-t}|c_m| + |c_t|)} \right\} |r(z)|.$$

Remark 3.2. Since all the zeros of $h(z)$ lie in $T_k \cup D_k^-, k \leq 1$, so $k^{m-t}|c_m| \geq |c_t|$. Therefore Theorem 3.1 is an improvement of Theorem 1.6.

For $\beta = 0, m = n$, Theorem 3.1 gives the following refinement of Theorem 1.5.

Corollary 3.3. *If $r \in \mathcal{R}_n, r(z) = \frac{z^t h(z)}{w(z)}$ has all zeros in $T_k \cup D_k^-, k \leq 1$, with t -fold zeros at the origin, then for $z \in T_1$*

$$|r'(z)| \geq \frac{1}{2} \left\{ |B'(z)| + \frac{2kt + n(1-k)}{1+k} + \frac{2k(k^{n-t}|c_n| - |c_t|)}{(1+k)(k^{n-t}|c_n| + |c_t|)} \right\} |r(z)|.$$

Taking $t = 0, m = n$, in Theorem 3.1, we get the following result.

Corollary 3.4. *If $r \in \mathcal{R}_n, r(z) = \frac{P(z)}{w(z)}$, where $P(z) = \sum_{j=0}^n a_j z^j$ has all zeros in $T_k \cup D_k^-, k \leq 1$, then for every complex number $\beta, |\beta| \leq 1$ and for $z \in T_1$*

$$\left| zr'(z) + \frac{n\beta}{1+k} r(z) \right| \geq \frac{1}{2} \left\{ |B'(z)| + \frac{n(1-k + 2Re(\beta))}{1+k} + \frac{2k(k^n|a_n| - |a_0|)}{(1+k)(k^n|a_n| + |a_0|)} \right\} |r(z)|.$$

Remark : If in Theorem 3.1, we assume $r(z)$ has a pole of order n at $z = \alpha, |\alpha| > 1$, then

$$r(z) = \frac{P(z)}{(z - \alpha)^n}.$$

So that

$$r'(z) = \frac{-D_\alpha P(z)}{(z - \alpha)^{n+1}},$$

where $D_\alpha P(z) = nP(z) + (\alpha - z)P'(z)$ denotes the polar derivative of $P(z)$ with respect to point α .

Also in this case

$$B(z) = \prod_1^n \left(\frac{1 - \bar{\alpha}z}{z - \alpha} \right) = \left(\frac{1 - \bar{\alpha}z}{z - \alpha} \right)^n.$$

This gives

$$B'(z) = \frac{n(1 - \bar{\alpha}z)^{n-1}(|\alpha|^2 - 1)}{(z - \alpha)^{n+1}}.$$

So that for $z \in T_1$,

$$|B'(z)| = \frac{n(|\alpha|^2 - 1)}{|z - \alpha|^2}.$$

Using these values in Theorem 3.1 , we get for $z \in T_1$

$$\begin{aligned} & \left| \frac{-zD_\alpha P(z)}{(z - \alpha)^{n+1}} + \frac{(m - t)\beta P(z)}{(1 + k)(z - \alpha)^n} \right| \\ & \geq \frac{1}{2} \left\{ \frac{n(|\alpha|^2 - 1)}{|z - \alpha|^2} + \frac{k(2t - n) + 2m - n + 2(m - t)Re(\beta)}{1 + k} + \frac{2k(k^{m-t}|c_m| - |c_t|)}{(1 + k)(k^{m-t}|c_m| + |c_t|)} \right\} \frac{|P(z)|}{|z - \alpha|^n}. \end{aligned}$$

That is

$$\begin{aligned} & \left| \frac{-zD_\alpha P(z)}{(z - \alpha)} + \frac{(m - t)\beta P(z)}{1 + k} \right| \\ & \geq \frac{1}{2} \left\{ \frac{n(|\alpha|^2 - 1)}{|z - \alpha|^2} + \frac{k(2t - n) + 2m - n + 2(m - t)Re(\beta)}{1 + k} + \frac{2k(k^{m-t}|c_m| - |c_t|)}{(1 + k)(k^{m-t}|c_m| + |c_t|)} \right\} |P(z)|. \end{aligned}$$

Thus we have for $z \in T_1$,

$$\begin{aligned} & \left| \frac{zD_\alpha P(z)}{(\alpha - z)} + \frac{(m - t)\beta P(z)}{1 + k} \right| \\ & \geq \frac{1}{2} \left\{ \frac{n(|\alpha|^2 - 1)}{|\alpha - z|^2} + \frac{k(2t - n) + 2m - n + 2(m - t)Re(\beta)}{1 + k} + \frac{2k(k^{m-t}|c_m| - |c_t|)}{(1 + k)(k^{m-t}|c_m| + |c_t|)} \right\} |P(z)|. \end{aligned}$$

Using these facts in Theorem 3.1 , we have the following ;

Corollary 3.5. *If all the zeros of a polynomial $P(z)$ lie in $T_k \cup D_k^-$, $k \leq 1$, with t -fold zeros at the origin, then for every complex number β , $|\beta| \leq 1$ and for $z \in T_1$,*

$$\left| \frac{zD_\alpha P(z)}{(\alpha - z)} + \frac{(m-t)\beta P(z)}{1+k} \right|$$

$$\geq \frac{1}{2} \left\{ \frac{n(|\alpha|^2 - 1)}{|\alpha - z|^2} + \frac{k(2t - n) + 2m - n + 2(m-t)Re(\beta)}{1+k} + \frac{2k(k^{m-t}|c_m| - |c_t|)}{(1+k)(k^{m-t}|c_m| + |c_t|)} \right\} |P(z)|.$$

Now if we let $|\alpha| \rightarrow \infty$, we get the following;

$$\left| zP'(z) + \frac{(m-t)\beta P(z)}{1+k} \right|$$

$$\geq \frac{1}{2} \left\{ n + \frac{k(2t - n) + 2m - n + 2(m-t)Re(\beta)}{1+k} + \frac{2k(k^{m-t}|c_m| - |c_t|)}{(1+k)(k^{m-t}|c_m| + |c_t|)} \right\} |P(z)|.$$

Remark 3.6. By taking $t = 0, \beta = 0, m = n$, in Corollary 3.5, we get Theorem 1.3.

Next, we prove the following result.

Theorem 3.7. *If $r \in \mathcal{R}_n$, $r(z) = \frac{P(z)}{w(z)}$, where $P(z) = \sum_{j=0}^n a_j z^j$ has all zeros in $T_k \cup D_k^-, k \leq 1$ and $m^* = \inf_{z \in T_k} |r(z)|$, then for every complex number $\beta, |\beta| \leq 1$ and for $z \in T_1$*

$$\left| zr'(z) + \frac{n\beta}{1+k} r(z) \right| \geq$$

$$\frac{1}{2} \left\{ |B'(z)| + \frac{n(1-k+2Re(\beta))}{1+k} + \frac{2k(k^n|a_n| - m^*(k^n + \prod_{j=1}^n |\alpha_j| - |a_0|))}{(1+k)(k^n|a_n| + m^*(k^n + \prod_{j=1}^n |\alpha_j|) + |a_0|)} \right\} |r(z)| +$$

$$\frac{1}{2} \left\{ |B'(z)| - \frac{2n|\beta|}{1+k} + \frac{n(1-k+2Re(\beta))}{1+k} + \frac{2k(|k^n a_n| - m^*(1 + \prod_{j=1}^n |\alpha_j| - |a_0|))}{(1+k)(|k^n a_n| + m^*(1 + \prod_{j=1}^n |\alpha_j|) + |a_0|)} \right\} \inf_{z \in T_k} |r(z)|.$$

Remark : Again assuming $r(z)$ has a pole of order n at $z = \alpha, |\alpha| > 1$, then $r(z) = \frac{P(z)}{(z - \alpha)^n}$, so that

$$r'(z) = \frac{-D_\alpha P(z)}{(z - \alpha)^{n+1}}.$$

Various polynomial inequalities can be obtained by a uniform procedure and continuing as done in Corollary 3.5.

4. PROOFS OF THE THEOREMS

Proof of Theorem 3.1. By hypothesis $r(z) \neq 0$ for $z \in T_1$, all the poles of $r(z)$ lie in D_1^+ and $r(z)$ has t -folded zero at the origin, therefore we have

$$r(z) = \frac{p(z)}{w(z)} = \frac{z^t h(z)}{w(z)}, \quad (4.1)$$

where

$$h(z) = \sum_{j=0}^{m-t} c_{t+j} z^j = c_m \prod_{j=1}^{m-t} (z - z_j). \quad (4.2)$$

Taking logarithm of (4.2) on both sides and differentiating with respect to z , we get

$$\frac{zr'(z)}{r(z)} = t + \frac{zh'(z)}{h(z)} - \frac{zw'(z)}{w(z)}. \quad (4.3)$$

Hence for every complex β with $|\beta| \leq 1$, we can write (4.3) as,

$$\frac{zr'(z)}{r(z)} + \frac{(m-t)\beta}{1+k} = t + \frac{zh'(z)}{h(z)} - \frac{zw'(z)}{w(z)} + \frac{(m-t)\beta}{1+k}.$$

This gives for all $z \in T_1$, with $r(z) \neq 0$,

$$\operatorname{Re} \left(\frac{zr'(z)}{r(z)} + \frac{(m-t)\beta}{1+k} \right) = t + \operatorname{Re} \left(\frac{zh'(z)}{h(z)} \right) - \operatorname{Re} \left(\frac{zw'(z)}{w(z)} \right) + \frac{(m-t)\operatorname{Re}(\beta)}{1+k}.$$

Let z_1, z_2, \dots, z_{m-t} be the zeros of $h(z)$, therefore $|z_j| \leq k < 1$ and by using Lemma 2.1, this gives for $|\beta| \leq 1$ and for all $z \in T_1$, where $r(z) \neq 0$

$$\operatorname{Re} \left(\frac{zr'(z)}{r(z)} + \frac{(m-t)\beta}{1+k} \right) = t + \operatorname{Re} \sum_{j=1}^{m-t} \left(\frac{z}{z - z_j} \right) - \left(\frac{n - |B'(z)|}{2} \right) + \frac{(m-t)\operatorname{Re}(\beta)}{1+k}.$$

Now for $z = e^{i\theta}$, $0 \leq \theta < 2\pi$ and $z_j = r_j e^{i\theta_j}$, $r_j < 1$, we have

$$\begin{aligned} \operatorname{Re} \left(\frac{z}{z - z_j} \right) &= \operatorname{Re} \left(\frac{e^{i\theta}}{e^{i\theta} - r_j e^{i\theta_j}} \right) \\ &= \frac{1 - r_j \cos(\theta_j - \theta)}{1 + r_j^2 - 2r_j \cos(\theta_j - \theta)} \\ &\geq \frac{1}{1 + r_j}, \end{aligned}$$

if and only if

$$1 - r_j \cos(\theta_j - \theta) + r_j - r_j^2 \cos(\theta_j - \theta) \geq 1 + r_j^2 - 2r_j \cos(\theta_j - \theta).$$

That is if and only if

$$r_j(1 - r_j) \geq r_j(r_j - 1)\cos(\theta_j - \theta).$$

Since $r_j \neq 0$ and $r_j < 1$, therefore the above inequality is true if and if

$$\cos(\theta_j - \theta) \geq -1,$$

Which is true.

Therefore, we conclude for $z \in T_1$

$$\operatorname{Re}\left(\frac{z}{z - z_j}\right) \geq \frac{1}{1 + |z_j|}.$$

Thus we get for $|\beta| \leq 1$ and for all $z \in T_1$, with $r(z) \neq 0$

$$\begin{aligned} \operatorname{Re}\left(\frac{zr'(z)}{r(z)} + \frac{(m-t)\beta}{1+k}\right) &\geq \frac{|B'(z)|}{2} + \frac{(m-t)\operatorname{Re}(\beta)}{1+k} + \sum_{j=1}^{m-t} \left(\frac{1}{1+|z_j|} - \frac{1}{1+k}\right) + \frac{(m-t)}{1+k} - \frac{n}{2}. \\ &= \frac{1}{2} \left[|B'(z)| + 2t + \frac{2(m-t)\operatorname{Re}(\beta)}{1+k} \right] + \frac{k}{1+k} \sum_{j=1}^{m-t} \left(\frac{k-|z_j|}{k+k|z_j|}\right) + \frac{2(m-t) - n(1+k)}{2(1+k)}. \\ &\geq \frac{1}{2} \left[|B'(z)| + \frac{2t(1+k) + 2(m-t)\operatorname{Re}(\beta)}{1+k} \right] + \frac{k}{1+k} \sum_{j=1}^{m-t} \left(\frac{k-|z_j|}{k+|z_j|}\right) + \frac{2m-2t-n-nk}{2(1+k)}. \\ &= \frac{1}{2} \left[|B'(z)| + \frac{k(2t-n) + 2m-n + 2(m-t)\operatorname{Re}(\beta)}{1+k} \right] + \frac{k}{1+k} \sum_{j=1}^{m-t} \left(\frac{1 - \frac{|z_j|}{k}}{1 + \frac{|z_j|}{k}}\right). \end{aligned}$$

Since $\frac{|z_j|}{k} \leq 1$, therefore by using Lemma 2.2, we get for $z \in T_1$,

$$\begin{aligned} \operatorname{Re}\left(\frac{zr'(z)}{r(z)} + \frac{(m-t)\beta}{1+k}\right) &\geq \\ &\frac{1}{2} \left[|B'(z)| + \frac{k(2t-n) + 2m-n + 2(m-t)\operatorname{Re}(\beta)}{1+k} \right] + \frac{k}{1+k} \left(\frac{1 - \prod_{j=1}^{m-t} \frac{|z_j|}{k}}{1 + \prod_{j=1}^{m-t} \frac{|z_j|}{k}}\right). \\ &= \frac{1}{2} \left\{ |B'(z)| + \frac{k(2t-n) + 2m-n + 2(m-t)\operatorname{Re}(\beta)}{1+k} + \frac{2k(k^{m-t}|c_m| - |c_t|)}{(1+k)(k^{m-t}|c_m| + |c_t|)} \right\} |r(z)|. \end{aligned}$$

Also

$$\left| \frac{zr'(z)}{r(z)} + \frac{(m-t)\beta}{1+k} \right| \geq \operatorname{Re} \left(\frac{zr'(z)}{r(z)} + \frac{(m-t)\beta}{1+k} \right),$$

therefore, We conclude for $r(z) \neq 0$ and $z \in T_1$.

$$\begin{aligned} & \left| zr'(z) + \frac{(m-t)\beta}{1+k} r(z) \right| \\ & \geq \frac{1}{2} \left\{ |B'(z)| + \frac{k(2t-n) + 2m-n + 2(m-t)\operatorname{Re}(\beta)}{1+k} + \frac{2k(k^{m-t}|c_m| - |c_t|)}{(1+k)(k^{m-t}|c_m| + |c_t|)} \right\} |r(z)|. \end{aligned}$$

In case $r(z) = 0$ for $z \in T_1$, then this inequality is trivially true.

This completes proof of Theorem 3.1.

Proof of Theorem 3.7: We assume all the zeros of $r(z)$ lie in D_k^- , so that $m^* = \inf_{z \in T_k} |r(z)| > 0$. Hence for some $\lambda, |\lambda| < 1$ we have $|r(z)| > m^*|\lambda|$ for $z \in T_k$.

By Rouches theorem the function $G(z) = r(z) + \lambda m^*$ has all its zeros in D_k^- , $k \leq 1$. Now

$$\begin{aligned} G(z) &= r(z) + \lambda m^* \\ &= \frac{P(z)}{w(z)} + \lambda m^* \\ &= \frac{P(z) + \lambda m^* w(z)}{w(z)} \\ &= \frac{\phi(z)}{w(z)}, \end{aligned}$$

where

$$\begin{aligned} \phi(z) &= \sum_{j=1}^n a_j z^j + \lambda m^* \prod_{j=1}^n (z - a_j) \\ &= (a_n + \lambda m^*) z^n + \dots + (a_0 + \prod_{j=1}^n \lambda m^* \prod_{j=1}^n (-1)^n \alpha_j). \end{aligned}$$

Applying Corollary 3.4 to the function $G(z)$, we have for all $z \in T_1$

$$\begin{aligned} & \left| zG'(z) + \frac{n\beta}{1+k} G(z) \right| \geq \\ & \frac{1}{2} \left\{ |B'(z)| + \frac{n(1-k + 2\operatorname{Re}(\beta))}{1+k} + \frac{2k(k^n |a_n + \lambda m^*| - |\lambda m^* \prod_{j=1}^n (-1)^n \alpha_j + a_0|)}{(1+k)(k^n |a_n + \lambda m^*| + |\lambda m^* \prod_{j=1}^n (-1)^n \alpha_j + a_0|)} \right\} |G(z)|. \end{aligned}$$

This implies for $z \in T_1$

$$\left| zr'(z) + \frac{n\beta}{1+k}(r(z) + \lambda m^*) \right| \geq \frac{1}{2} \left\{ |B'(z)| + \frac{n(1-k+2\operatorname{Re}(\beta))}{1+k} + \frac{2k(k^n|a_n + \lambda m^*| - |\lambda m^* \prod_{j=1}^n (-1)^n \alpha_j + a_0|)}{(1+k)(k^n|a_n + \lambda m^*| + |\lambda m^* \prod_{j=1}^n (-1)^n \alpha_j + a_0|)} \right\} |r(z) + \lambda m^*|.$$

Using the fact that the function $g(y) = \frac{y - |b|}{y + |b|}$, where $y = k^n|a_n + \lambda m^*|$ and $b = \lambda m^* \prod_{j=1}^n (-1)^n \alpha_j + a_0$, is a non-decreasing function of y and the triangle inequality on left hand side of the above inequality, we get for $|\lambda| < 1$ and for $z \in T_1$,

$$\left| zr'(z) + \frac{n\beta}{1+k}r(z) \right| + \frac{n|\lambda||\beta|m^*}{1+k} \geq \frac{1}{2} \left\{ |B'(z)| + \frac{n(1-k+2\operatorname{Re}(\beta))}{1+k} + \frac{2k(k^n|a_n| - k^n|\lambda m^*| - |\lambda m^* \prod_{j=1}^n \alpha_j| - |a_0|)}{(1+k)(k^n|a_n| + k^n|\lambda m^*| + |\lambda m^* \prod_{j=1}^n \alpha_j| + |a_0|)} \right\} (|r(z) + \lambda m^*|).$$

This gives for $z \in T_1$

$$\left| zr'(z) + \frac{n\beta}{1+k}r(z) \right| + \frac{n|\lambda||\beta|m^*}{1+k} \geq \frac{1}{2} \left\{ |B'(z)| + \frac{n(1-k+2\operatorname{Re}(\beta))}{1+k} + \frac{2k(k^n|a_n| - k^n|\lambda m^*| - |\lambda m^* \prod_{j=1}^n |\alpha_j| - |a_0|)}{(1+k)(k^n|a_n| + k^n|\lambda m^*| + |\lambda m^* \prod_{j=1}^n |\alpha_j| + |a_0|)} \right\} (|r(z) + \lambda m^*|).$$

Choosing the argument of λ on the right of the above inequality suitably, we get for $z \in T_1$

$$\left| zr'(z) + \frac{n\beta}{1+k}r(z) \right| + \frac{n|\lambda||\beta|m^*}{1+k} \geq \frac{1}{2} \left\{ |B'(z)| + \frac{n(1-k+2\operatorname{Re}(\beta))}{1+k} + \frac{2k(k^n|a_n| - k^n|\lambda|m^* - |\lambda|m^* \prod_{j=1}^n |\alpha_j| - |a_0|)}{(1+k)(k^n|a_n| + k^n|\lambda|m^* + |\lambda|m^* \prod_{j=1}^n |\alpha_j| + |a_0|)} \right\} (|r(z)| + |\lambda|m^*).$$

Letting $|\lambda| \rightarrow 1$, we get for $z \in T_1$,

$$\left| zr'(z) + \frac{n\beta}{1+k}r(z) \right| \geq \frac{1}{2} \left\{ |B'(z)| + \frac{n(1-k+2\operatorname{Re}(\beta))}{1+k} + \frac{2k(k^n|a_n| - m^*(k^n + \prod_{j=1}^n |\alpha_j| - |a_0|)}{(1+k)(k^n|a_n| + m^*(k^n + \prod_{j=1}^n |\alpha_j|) + |a_0|)} \right\} |r(z)| + \frac{1}{2} \left\{ |B'(z)| - \frac{2n|\beta|}{1+k} + \frac{n(1-k+2\operatorname{Re}(\beta))}{1+k} + \frac{2k(k^n|a_n| - m^*(k^n + \prod_{j=1}^n |\alpha_j| - |a_0|)}{(1+k)(k^n|a_n| + m^*(k^n + \prod_{j=1}^n |\alpha_j|) + |a_0|)} \right\} \inf_{z \in T_k} |r(z)|.$$

This completes the proof of Theorem 3.7.

Remark : Since the function $g(y) = \frac{y - |b|}{y + |b|}$ is a non-decreasing function of y , hence Theorem 3.7 is an improvement of the result due to Milovanovic and Mir [7].

□

Acknowledgement. The authors are highly grateful to the referee for his/her useful suggestions.

REFERENCES

1. Akther, T., Malik, S. A. and Zargar B.A. (2022). Turan type inequalities for rational functions with prescribed poles, *Int. J. Nonlinear Anal. Appl.*, 13, 1003-1009. <https://doi.org/10.22075/ijnaa.2021.23145.2484>
2. Aziz, A. and Dawood, Q.M. (1988). Inequalities for polynomials and its derivative, *J.Approx. theory*, 54, 306-313. [https://doi.org/10.1016/0021-9045\(88\)90006-8](https://doi.org/10.1016/0021-9045(88)90006-8)
3. Aziz, A. and Shah, W.M. (2004). Some properties of rational functions with prescribed poles and restricted zeros, *Math. Balkanica(N.S)*, 18, 33-40.
4. Aziz, A. and Zargar, B.A. (1999). Some properties of rational functions with prescribed poles, *Canad. Math. Bull.*, 42, 417-426. <https://doi.org/10.4153/CMB-1999-049-0>
5. Bernstein, S.N. (1930). Sur la limitation des dérivées des polynomes, *C. R. Acad. Sci. Paris.*, 190, 338-340.
6. Xin Li, Mohapatra, R.N., and Rodriguez, R. S. (1995). Bernstein-type inequalities for rational functions with prescribed poles, *J. London Math. Soc.*, 51, 523-531.

7. Gradimir, V. M. and Abdullah, Mir (2021). Comparison inequalities between rational functions with prescribed poles, RACSAM. <https://doi.org/10.1007/s13398-021-01023-5>
8. Mir, M.Y., Wali, S.L. and Shah, W.M. (2022). Inequalities for Meromorphic functions not vanishing outside the Disk, Journal of Mathematical Sciences. <https://doi.org/10.1007/s10958-022-05868-y>
9. Mir, M.Y., Wali, S.L. and Shah, W.M. (2023). Refinement of some Turán -type inequalities for meromorphic functions, Analysis of Mathematical Physics. <https://doi.org/10.1007/s13324-023-00789-8>
10. Mir, M.Y., Wali, S.L. and Shah, W.M. (2023). Inequalities for a class of meromorphic functions whose zeros are within or outside the given Disk, Ural Mathematical journal, 9, 104-112. <https://doi.org/10.15826/umj.2023.1.008>
11. Mir, M.Y., Wali, S.L. and Shah, W.M. (2023). Generalizations of certain well-known inequalities for rational functions, Probl. Anal. Issues Anal., 12, 25-33. <https://doi.org/10.15393/j3.art.2023.11810>
12. Qasim, I. (2021).Bernstein-Type inequalities involving Polar Derivative of a Polynomial, Lobachevskii Journal of Mathematics , 42, 173-183. <https://doi.org/10.1134/S1995080221010224>
13. Rather, N.A. Ishfaq Dar and Iqbal, A. (2021). Some Inequalities for Polynomials with restricted zeros, Ann. Univ. Ferrara ., 67, 183-189. <https://doi.org/10.1007/s11565-020-00353-3>
14. Rather, N. A ., Shafi M. W. and Aijaz Bhat, (2022). Some inequalities for the growth of rational functions with prescribed poles, The International Journal of Nonlinear Analysis and Applications. DOI:10.22075/ijnaa.2022.27564.365
15. Rather, N. A ., Shafi M. W. and Ishfaq Dar, (2022). Inequalities pertaining to rational functions with prescribed poles, Ural Math J., 8, 143-152.
16. Turán, P. (1939). Über die ableitung von polynomen, Compos. Math., 89-95.

¹ DEPARTMENT OF MATHEMATICS, SHARDA UNIVERSITY, GREATER NOIDA UP, INDIA
Email address: ganiebashir@gmail.com

² DEPARTMENT OF MATHEMATICS, SHARDA UNIVERSITY, GREATER NOIDA UP, INDIA
Email address: varun0503ind39@gmail.com

³ DARTMENT OF MATHEMATICS, CENTRAL UNIVERSITY OF KASHMIR, GANDERBAL, INDIA
Email address: shah1w@yahoo.co.in